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1. ¸ÛýÛÛÙÈÛÁõ¨Û …¶Ûé …ÛÜ¬ÛÙïõ ÜÈÛïõÛÍÛ ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ ©Û¸ÛÛÍÛÛé. …Û ÍÛÛ¬Ûé ïäõ¡ö¶Ûé¤ø¶Ûà Áéõ”ÛÛ ÍÛ¾Û›ÛÈÛÛé. 
 

 Explain the relation between environment and economic development. Also discuss 
Kuznet Curve. 

…¬ÛÈÛÛ/OR 

 ¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ …¬ÛÙÉÛÛÍªÛ¶Ûà ÈýÛÛ”ýÛÛ ›÷¨ÛÛÈÛà, ÍÛÛ¬Ûé ©Ûé¶Ûä× ¾ÛÐü«ÈÛ, ÈýÛÛ¸Û …¶Ûé ÍÈÛÄõ¸Û ÍÛ¾Û›ÛÈÛÛé.  

 Define Environmental Economics with its scope, nature and importance.  

 

2. ›ÛÐéüÁõ ÈÛÍ©Ûä¶ÛÛ× ÅÛ“Û¨ÛÛé ïõýÛÛ ™öé ? ›ÛÐéüÁõ ÈÛÍ©Ûä¾ÛÛ× ¼Û›ÛÁõ¶Ûà Ü¶ÛÌºõÇ©ÛÛ ïõˆ Áõà©Ûé ¼Û¶Ûé ™öé ? 

 What are the characteristics of public goods ? How does market failure occur in public 
goods ? 

…¬ÛÈÛÛ/OR 

 ›ÛÐéüÁõ ÈÛÍ©Ûä …¶Ûé ÍÛÛ¾ÛäÜÐüïõ ÍÛÛµÛ¶Û ÍÛ×¸ÛÜ«Û ÈÛ˜˜Ûé ÉÛä× ©ÛºõÛÈÛ©Û ™öé ? ïõˆ Áõà©Ûé ÍÛÛ¾ÛäÜÐüïõ ÍÛ×¸ÛÜ«Û 
“ÍÛÛ¾ÛäÜÐüïõ©ÛÛ¶Ûà ïõÄõ¨ÛÛ×Ü©ÛïõÛ”¾ÛÛ× ¸ÛÜÁõ¨Û¾Ûé ™öé ?õ 

 State the difference between common property resources and public goods ? How does 
common property resources result in Tragedy of common ? 

 

3. ¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ ¸ÛóþæùÌÛ¨Û¶Ûé …×ïäõÉÛ¾ÛÛ× ÅÛé©ÛÛ ›ä÷þùÛ-›ä÷þùÛ ÍÛÛµÛ¶ÛÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé.  

 Explain the various instruments to control environmental pollution. 

    …¬ÛÈÛÛ/OR 

 (A) ïõÛé¡ö ¬ÛàýÛÁõà ÍÛ¾Û›ÛÈÛÛé. 

  Explain Cause theorem. 

 (B) Ü¸Û•ÛäÜÈÛýÛ¶Û ïõÁõÈÛéÁõÛ …¶Ûé Emission Tax ÍÛ¾Û›ÛÈÛÛé.  

  Discuss emission tax and Pigouvian Tax.  
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4. ‘ÉÛæ¶ýÛ ÜÈÛïõÛÍÛ’ …¶Ûé ‘¾ÛýÛÛÙÜþù©Û ÜÈÛïõÛÍÛ’ ÜÈÛÌÛé¶Ûä× ¤øàïõÛ©¾Ûïõ ¾ÛæÅýÛÛ×ïõ¶Û ïõÁõÛé.  

 Critically evaluate ‘Zero development’ and ‘Limited development’. 

…¬ÛÈÛÛ/OR 

 ¤øïõÛŠ ÜÈÛïõÛÍÛ …×•Ûé¶ÛÛé ÐüÁõ¾Û¶Û ¦øÛÅÛé¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûä× ¤øàïõÛ©¾Ûïõ ¾ÛæÅýÛÛ×ïõ¶Û ïõÁõÛé.  

 Critically evaluate Herman Daly’s model on Sustainable Development.  

 

5. MCQs :  

 ¶Ûà˜Ûé¶ÛÛ þùÁéõïõ ¸ÛóÊ¶Û ¾ÛÛ¤éø ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõà ©Û¾ÛÛÁõà Š«ÛÁõÈÛÐüà¾ÛÛ× ÍÛÈÛÛÅÛ ÍÛÛ¾Ûé ¾ÛÛªÛ ©Ûé¶ÛÛé ¶Û×¼ÛÁ 
ÅÛ”ÛÛé. þùÛ.©Û. ¸Ûó.1-(a) 

 For the following each question, select the best answer and write only its number (a, b, c, 
or d) against the question number in your answer sheet. For example if the answer for Q. 
1 is ‘a’ then write Q. 1 = a. 

 (1) ¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ …¬ÛÙÉÛÛÍªÛ ÉÛÛ ¾ÛÛ¤éø ›÷ÄõÁõà ™öé ? 

  (a) ¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ …¬ÛÙÉÛÛÍªÛ …ÛÜ¬ÛÙïõ ÈýÛÈÛÍ¬ÛÛ …¶Ûé ¸ÛýÛÛÙÈÛÁõ¨Û ÈÛ˜˜Ûé ÍÛ×©ÛäÅÛ¶Û ÅÛÛÈÛé ™öé.  

  (b) ¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ …¬ÛÙÉÛÛÍªÛ …ÛÜ¬ÛÙïõ ÈýÛÈÛÍ¬ÛÛ …¶Ûé ÁõÛ›÷ïõàýÛ ÈýÛÈÛÍ¬ÛÛ¶ÛÛé ÍÛä¾ÛéÇ ÍÛÛµÛé ™öé.  

  (c) ¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ …¬ÛÙÍÛÛÍªÛ ÈýÛÜî©Û ÍÛÛ¬Ûé ÍÛä¾ÛéÇ ÍÛÛµÛé ™öé.  

  (d) ¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ …¬ÛÙÉÛÛÍªÛ ¼Ûà›Û ÅÛÛéïõÛé ÍÛÛ¬Ûé ÍÛä¾ÛéÇ ÍÛÛµÛé ™öé.  

  Why environmental economics is required ? 

  (a) Environmental economics to bring harmony to the economic system and 
the environment. 

  (b) Study environmental economics to bring harmony to the economic system 
and the political system. 

  (c) Study environmental economics to find harmony with oneself. 

  (d) Study environmental economics to find harmony with other people.  

 (2) ¸ÛóþæùÌÛ¨Û¶Ûà ¾Û¶ÛÛˆ ïõÁõÈÛÛ¬Ûà ïõýÛÛ ¸ÛóÊ¶Û Š½ÛÛ ¬ÛÛýÛ ? 

  (a) ¾Û¶ÛÛˆ¶Ûé ÅÛàµÛé ¸Ûé§øà¶ÛÛé ”Û˜ÛÙ –Û¤éø ™öé.  

  (b) ›÷é¾ÛÛ× ¾Û¶ÛÛˆ ¶Û¬Ûà …éÈÛà ÈÛÍ©Ûä¶ÛÛ× ¼Û›ÛÁõ¾ÛÛ× ¶ÛÈÛà ¸Ûé§øà…Ûé …ÛÈÛÉÛé. 

  (c) ¾Û¶ÛÛˆ¶Ûé ÅÛàµÛé Š²Ûé•Û ¼Û×µÛ ¬ÛÈÛÛ¶Ûé ÅÛàµÛé ÁõÛé›÷•ÛÛÁõà¶Ûé ¶ÛäïõÍÛÛ¶Û ¬ÛÉÛé. 

  (d) ¼Û›ÛÁõ¾ÛÛ× ¸Ûé§øà…Ûé ¸ÛÁõÈÛÛ¶ÛÛ¶Ûä× ”ÛÁõàþùà …¬ÛÈÛÛ ÈÛé˜ÛÛ¨Û ïõÁõÉÛé.  

  What is the problem of prohibiting or outlawing pollution ? 

  (a) The prohibition lowers firms’ costs. 

  (b) New firms enter the market to supply the outlawed products. 

  (c) The prohibition creates job losses as industry shuts down. 

  (d) Firms may purchase or sell permits in a market.  
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 (3) ¸ÛóþæùÌÛ¨Û¶ÛÛ …þùÛÅÛ©Ûà ¾ÛäïõÛ°ù¾Û¶Ûé ÅÛàµÛé ïõýÛÛ ¸ÛóÊ¶ÛÛé ¬ÛÛýÛ ™öé ? 

  (a) ïõÛé¤Ùø¶Ûä× ïõÛ¾Û µÛà¾Ûä× ÐüÛéýÛ ™öé.  

  (b) …þùÛÅÛ©Ûà ¾ÛäïõÛ°ù¾ÛÛ ÈÛµÛÛÁéõ ”Û˜ÛÛÙÇ ™öé.  

  (c) …é ›Û¨ÛÈÛä× ›÷ÄõÁõà ™öé ïéõ ïõÛé¨Û ¶ÛäïõÍÛÛ¶Û ïõÁéõ ™öé …¶Ûé ïéõ¤øÅÛä× ¶ÛäïõÍÛÛ¶Û ¬ÛÛýÛ ™öé.  

  (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷ÈÛÛ¼Û ÍÛÛ˜ÛÛ ™öé.  

  What is the problem of pollution lawsuits ? 

  (a) Courts are slow. 

  (b) Litigation is costly. 

  (c) Need to know both who causes the harm and what the damages are. 

  (d) All answers are correct.  

 (4) …ÛþéùÉÛÛé …¶Ûé …×ïäõÉÛÛé ïõÛé¶Ûé ïõÐéüÈÛÛýÛ ? 

  (a) ÍÛÁõïõÛÁõ ¼ÛÛÔ©ÛÛ¶Ûé ÐüÅÛ ïõÁõÈÛÛ ¾ÛÛ¤éø Ýïõ¾Û©Û …¶Ûé ›÷¬¬ÛÛ¶Ûà ÈýÛÈÛÍ¬ÛÛ¶ÛÛé Š¸ÛýÛÛé•Û ïõÁéõ ™öé.  

  (b) ÍÛÁõïõÛÁõ ÍÛàµÛà Áõà©Ûé ¸ÛóþæùÌÛ¨Û Š¸ÛÁõ ïõÁõÈÛéÁõÛ ¶ÛÛ×”Ûé ™öé.  

  (c) ÍÛÁõïõÛÁõ ÍÛ¼ÛÍÛà¦øà …Û¸Ûé ™öé.  

  (d) ÍÛÁõïõÛÁõ ¸ÛóþæùÌÛ¨Û¶Ûé –Û¤øÛ¦øÈÛÛ ïõÛýÛþùÛ …¶Ûé …×ïäõÉÛÛé¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõà µÛÛéÁõ¨ÛÛé …¶Ûé 
¤éøïõ¶ÛÛéÅÛÛéœ÷ ÅÛÛÈÛé ™öé.  

  What are command-and-control regulations (CAC) ? 

  (a) Government’s use of price or quantity mechanisms to internalize the 
externalities. 

  (b) Government’ placement of a tax directly on pollution. 

  (c) Government implementation of a subsidy. 

  (d) The Government’s use of laws and regulations that dictate the standards 
and/or technology used to reduce pollution.  

 (5) ÍÛÁõïõÛÁõ ˜ÛÛé‘õÍÛ ¸ÛóþæùÌÛ¨Û –Û¤øÛ¦øÈÛÛ¶Ûà ¤éøïõ¶ÛÛéÅÛÛéœ÷ ¾ÛÛ¤éø ¸Ûé§øà¶Ûé  

  (a) ¸ÛóþæùÌÛ¨Û ¸ÛÁõ ïõÁõÈÛéÁõÛ ¶ÛÛ”Ûé (b) ÍÛ¼ÛÍÛà¦øà …Û¸ÛÈÛà 

  (c) ¤éøïõ¶ÛÛéÅÛÛéœ÷¶ÛÛ Í¤øÛ¶¦ø¦Ùø ¶Û‘õà ïõÁéõ (d) ¸ÛÁõÈÛÛ¶ÛÛ …Û¸ÛÈÛÛ 

  Government _________ to help a firm pay for a specific pollution abatement 
technology. 

  (a) imposes a tax on pollution 

  (b) grants a subsidy 

  (c) defines technology standards 

  (d) places a permit 
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 (6) ¸ÛÁõÈÛÛ¶ÛÛ ¸ÛóþæùÌÛ¨Û¶Ûà ¼Û›ÛÁõ Ýïõ¾Û©Û Š½Ûà ïõÁéõ ™öé …¶Ûé ©Ûé¬Ûà ¸Ûé§øà…Ûé ÈÛ˜˜Ûé ©Ûé¶ÛÛé ÈýÛÛ¸ÛÛÁõ ¬ÛÛýÛ 
™öé. …Û ¸ÛÁõÈÛÛ¶ÛÛ¶ÛÛé ÜÈÛÜ¶Û¾ÛýÛ …Ûé™öÛ ÍÛÛéþùÛ ”Û˜Ûë ¬ÛÛýÛ ©Ûé ¾ÛÛ¤éø ©Ûé ________ ÐüÛéÈÛà ›Ûéˆ…é. 

  (a) …éïõÄõ¸Û, …ÜÈÛ½ÛÛšýÛ …¶Ûé ÜÈÛÜ¶Û¾ÛýÛýÛÛé•ýÛ 

  (b) …éïõÄõ¸Û, ÍÛ×¸Ûæ¨ÛÙ Áõà©Ûé ÜÈÛ½ÛÛœ÷©Û …¶Ûé ÜÈÛÜ¶Û¾ÛýÛýÛÛé•ýÛ  

  (c) …éïõÄõ¸Û, Ü¼Û¶ÛÐüÁõàºõ …¶Ûé Ü¼Û¶ÛÈÛ×Ü˜Û©Û  

  (d) …éïõÄõ¸Û, …ÜÈÛ½ÛÛšýÛ …¶Ûé Ü¼Û¶ÛÈÛ×Ü˜Û©Û  

  Permits create a market price for pollution and therefore can be traded between 
firms. In order for these permits to have low transaction costs, they must be 

  (a) Homogeneous, not divisible, and exchangeable 

  (b) Homogeneous, perfectly divisible, and exchangeable 

  (c) Homogeneous, non rival, and excludable 

  (d) Homogeneous, not divisible, and excludable  

 (7) ¶ÛïõÛÁõÛ©¾Ûïõ ”Û˜ÛÙ Í¸ÛàÅÛ …ÛéÈÛÁõ …é¤øÅÛé  

  (a) ÈÛµÛÛÁéõ ÈÛÍ©Ûä ”Ûæ¼Û ¶Ûà˜Ûà Ýïõ¾Û©Ûé 

  (b) ÐüÈÛÛ¶ÛÛ ¸ÛóþæùÌÛ¨Û …¶Ûé ÜÉÛ“Û¨Û ©Ûé¶Ûä× ŠþùÛÐüÁõ¨Û ™öé.  

  (c) ÈÛÛÐü¶ÛÈýÛÈÛÐüÛÁõ …¶Ûé ÁõÍÛàïõÁõ¨Û ©Ûé¶ÛÛ ŠþùÛÐüÁõ¨Û ™öé.  

  (d) …Ûé™öà ÈÛÍ©Ûä ”Ûæ¼Û ÈÛµÛÛÁéõ Ýïõ¾Û©Ûé  

  Negative (cost) spillovers means 

  (a) result in too much of a product at too low a price 

  (b) are exemplified by air pollution and education 

  (c) are exemplified by transportation and immunization 

  (d) result in too little of a product at too high a price 

 (8) …éïõ ÈÛÍ©Ûä ›÷é ©Ûé¶ÛÛ Š©¸ÛÛþù¶Û¬Ûà ¶ÛïõÛÁõÛ©¾Ûïõ ¼ÛÛÔ©ÛÛ Š½Ûà ïõÁõ©Ûä× ÐüÛéýÛ ©Ûé¶ÛÛ Š¸ÛÁõ …Û¼ÛïõÛÁõà 
›÷ïõÛ©Û ïõÁõÈÛéÁõÛ ¶ÛÛ×”Û©ÛÛ  

  (a) ïõÁõÈÛéÁõÛ¬Ûà ½Ûé•Ûà ïõÁõÛ©Ûà …ÛÈÛïõ ïõÁõ©ÛÛ× ”Ûæ¼Û ÈÛµÛÛÁéõ ¼ÛÛé›Ûé  

  (b) Í¸ÛÌ¤ø Áõà©Ûé …ÛÜ¬ÛÙïõ ÍÛ¾ÛÛ¶Û©ÛÛ ÈÛµÛÛÁéõ 

  (c) ©Ûé ÈÛÍ©Ûä¶Ûé ¼ÛþùÅÛé ¼Ûàœ÷ ¶Ûœ÷ïõ¶Ûà …ÈÛéœ÷¶Ûà ÈÛÍ©Ûä¶ÛÛé ÈÛµÛÛÁéõ ÈÛ¸ÛÁõÛÉÛ ™öé. 

  (d) …ÛÈÛÛ ïéõÍÛ¾ÛÛ× ÈÛµÛÛÁéõ Ýïõ¾Û©Û …¶Ûé …Ûé™ä×ö Š©¸ÛÛþù¶Û ÈÛµÛÛÁéõ ýÛÛé•ýÛ ™öé.  

  An excise tax newly imposed on a good for which negative externalities are 
generated in production would tend to cause : 

  (a) enormous excess burdens relative to tax revenues collected 

  (b) unambiguously enhanced economic equity 

  (c) greater use of the good to replace its close substitutes 

  (d) higher prices and falling production, which may be desirable in such cases 
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 (9) ________ ¶Ûé ÅÛàµÛé ”ÛÛ¶Û•Ûà Ü¶Û¨ÛÙýÛ ïõÁõ¶ÛÛÁõÛ šýÛÛÁéõ ÍÛÛ¾ÛÛœ÷ïõ Áõà©Ûé ›÷é¶Ûà Ýïõ¾Û©ÛÛé ÈÛµÛÛÁéõ ÐüÛéýÛ 
…¶Ûé …éÈÛà ¸ÛóÈÛèÜ«Û ›÷é ÍÛÛ¾ÛÛœ÷ïõ Áõà©Ûé ˆÌ¤ø ÐüÛéýÛ ©Ûé¾ÛÛ× …Ûé™ä×ö ¸ÛóÈÛéÉÛÉÛé. 

  (a) ¶ÛïõÛÁõÛ©¾Ûïõ ¼ÛÛÔ©ÛÛ 

  (b) ÈÛµÛÛÁéõ ¼ÛÛé›÷  

  (c) •ÛÇÛïõÛ¸Û ÐüÁõàºõÛˆ 

  (d) ÐüïõÛÁõÛ©¾Ûïõ ¼ÛÛÔ©ÛÛ  

  Private decision makers will confront prices that are socially too  high and, thus, 
will pursue too little of an activity relative to a social optimum if the activity 
generates : 

  (a) negative externalities  

  (b) excess burdens 

  (c) cut throat competition 

  (d) positive externalities 

 (10) ¶ÛïõÛÁõÛ©¾Ûïõ ¼ÛÛÔ©ÛÛ …Ûé™öÛ¾ÛÛ× …Ûé™öà Š©¸Û·Û ¬ÛÉÛé ›Ûé  

  (a) ¤øà.ÈÛà. ÉÛÛé¶ÛÛ ïõÅÛÛïõÛÁõ þù¸ÛÙ¨Û¾ÛÛ× ›Ûéˆ¶Ûé ÐüÍÛÈÛÛ¶Ûà ¸Ûóéïõ¤øàÍÛ ïõÁéõ. 

  (b) ©Û¾ÛÛÁõÛ ¸ÛÛ¦øÛéÉÛà ïäõ©ÛÁõÛ ¸ÛÛÇé. 

  (c) ¤øà¶Ûé›÷ÍÛÙ ¸ÛÛé©ÛÛ¶ÛÛ –ÛÁõ¾ÛÛ× ¸ÛÛ¤øâ¶Ûä× …ÛýÛÛé›÷¶Û ïõÁéõ. 

  (d) ¶Ûœ÷ïõ¶ÛÛ ¸ÛÛïÙõ¾ÛÛ× ÿ˜ÛÛ …ÈÛÛ›÷é ÍÛ×•Ûà©Û¶Ûà ÐüÁõàºõÛˆ ýÛÛé›ÛýÛ. 

  Negative externalities are least likely to be created if : 

  (a) a TV show host practices smiling in front of a mirror. 

  (b) your neighbour keeping dogs. 

  (c) teenagers arrange parts at their home. 

  (d) high volume music competition take place nearer park.   

 (11) ÐüïõÛÁõÛ©¾Ûïõ ¼ÛÛÔ©ÛÛ …Ûé™öà Š©¸Û¶¶Û ¬ÛÉÛé ›Ûé  

  (a) ©Û¾ÛÛÁõÛé ¸ÛÛ¦øÛéÉÛà ©Ûé¶Ûà ÅÛÛé¶Û Ü¶ÛýÛÜ¾Û©Û ïõÛ¸ÛÉÛé. 

  (b) ›ä÷¶Ûà ïõ˜ÛÁõÛ Š¸ÛÛ¦øÈÛÛ¶Ûà ¤Öøïõ¶Ûé Á×õ•ÛÈÛÛ¾ÛÛ× …ÛÈÛé. 

  (c) µÛä¾ÛÛ¦øÛ ïõÁõ©Ûà ›ä÷¶Ûà ïõÛÁõ¶Ûä× …é¶œ÷¶Û ¼ÛþùÅÛÛÈÛÈÛÛ¾ÛÛ× …ÛÈÛé. 

  (d) ÍÛÁõïõÛÁõ ¸ÛíéÍÛÛ ¼Û˜ÛÛÈÛÈÛÛ× ©Ûé¶ÛÛ ˆ¶Í¸Ûéî¤øÍÛÙ¶Ûé ¶ÛÛéïõÁõà¾ÛÛ×¬Ûà ™äö¤øÛ ïõÁéõ. 
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  Positive externalities are least likely to be created if 

  (a) your neighbour cuts her lawn on a regular basis 

  (b) old garbage truck is repainted. 

  (c) the engine of an old car throwing smoke is to be replaced. 

  (d) Government dismissed their inspector to save money. 

 (12) šýÛÛÁéõ ¼ÛÛÔ©ÛÛ ÐüÛéýÛ ©ýÛÛÁéõ ˆÌ¤ø©Û¾Û Š¸ÛÛýÛ  

  (a) ›÷é ¼ÛÛÔ©ÛÛ Š©¸Û·Û ïõÁõ©Ûà ÐüÛéýÛ ©ÛéÈÛà ¸ÛóÈÛèÜ«Û¶Ûé ¶ÛÛ¼Ûæþù ïõÁõÈÛà. 

  (b) ÍÛ×¼Û×ÜµÛ©Û ¼ÛÛÔ ”Û˜ÛÙ …¶Ûé ÅÛÛ½ÛÛé¶Ûé …Û×©ÛÜÁõïõ ïõÁõÈÛÛ. 

  (c) ÍÛÐü¶Û ïõÁõà ÉÛïõÛýÛ ©ÛéÈÛÛ Í©ÛÁõ¶Ûà ¼ÛÛÔ©ÛÛ ¾ÛÛ¤éø ˜ÛæÍ©Û µÛÛéÁõ¨ÛÛé 

  (d) ¸ÛóþæùÌÛ¨Û¶ÛÛ –Û¤øÛ¦øÛ¬Ûà ¬Û©ÛÛ× ÅÛÛ½Û þ×ù¦ø¶ÛàýÛ ”Û˜ÛÙ ¼ÛÁõÛ¼ÛÁõ  

  Optimal adjustments when externalities are present involve : 

  (a) forbidding the activities that generate the externalities. 

  (b) internalization of all relevant external costs or benefits. 

  (c) rigid standards that reduce externalities to tolerable levels.  

  (d) total benefits from abatement that equal total abatement costs. 

 (13) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ÉÛé¾ÛÛ× ›ÛÐéüÁõ ÈÛÍ©Ûä¶Ûä× Ü¼Û¶Û-ÈÛ×Ü˜Û©Û©ÛÛ¸Û¨Ûä× ›Ûé¦øÛýÛéÅÛä× ™öé ? 

  (a) ¾Ûºõ©Û ÍÛÈÛÛÁõà  

  (b) ¶ÛïõÛÁõÛ©¾Ûïõ ¼ÛÛÔ©ÛÛ  

  (c) ÈÛ¸ÛÁõÛÉÛ¾ÛÛ× ÐüÁõàºõÛˆ  

  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà ïõÛéˆ ¶ÛÜÐü 

  Which is most associated with the non-exclusive characteristics of a public good ? 

  (a) Free riding  

  (b) Negative externalities 

  (c) Rival in consumption  

  (d) None of the above 
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 (14) ÉÛÛ ¾ÛÛ¤éø Í¬ÛÛÜ¶Ûïõ ÍÛÁõïõÛÁõ ¸ÛýÛÛÙÈÛÁõ¨ÛàýÛ µÛÛéÁõ¨ÛÛé …¶Ûé …×ïäõÉÛ ÈÛµÛÛÁõÈÛÛ ¶Û¬Ûà ¾ÛÛ×•Û©Ûà ? 

  (a) ¸ÛÁõÛé“Û Áõà©Ûé Š²Ûé•Û¶Ûé …ÛïõÌÛÙÈÛÛ …¶Ûé ÁõÛé›÷•ÛÛÁõà …¶Ûé ÍÛ×¸ÛÜ«Û¾ÛÛ× ÈÛµÛÛÁõÛé ïõÁõÈÛÛ 

  (b) ¶ÛÛ•ÛÜÁõïõÛé¶ÛÛ …ÛÁõÛé•ýÛ¶ÛÛ µÛÛéÁõ¨ÛÛé ÈÛµÛÛÁõÈÛÛ 

  (c) ¶ÛÛ•ÛÜÁõïõÛé ¾ÛÛ¤éø œ×÷þù•Ûà ÍÛÁõÇ ¼Û¶ÛÛÈÛà 

  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà ïõÛéˆ ¶ÛÜÐü 

  Why are local governments reluctant to increase environmental standards and 
regulations ? 

  (a) To attract industry indirectly to increase in jobs and wealth. 

  (b) To increase the health standards of citizen. 

  (c) To make life easier for its citizens. 

  (d) None of answers above is correct. 

 
________ 
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